ST 545 i = X 15
I BCET A4 - PRI AR )1 BT RS E

e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| EE £ P DU —t 3. 1 44— - - -
LA D KI5 L1$5AE73%1A%1A — —
Hith i R b X fa s o4.3 | | | —
EELIA 0 KR 30 | L1|P 5.9 8 1 14 1.4 —| —
I EmEp FE PR M X3 —l 3 e 4.4 | | | —
EEUA ORI LU 5.4 730 146 1.4 —|  —
| B FE A i X I —l 2.4t 2.6 - —|  —|  —
BRSO IR L1 320 4.6 1.56 1.5 —| —
Nl i A KR —i 3.0t 3.6 | | | —
RSO KIS L1¢3AE4J%15%15 - -
ny LA ) R — LT e | |~ —
LA O K L1 2.8F 3.8 .68 1.5 —| —
_Evin = F i —l 430 5.0 | —| - -
ERLEASR D X L1|h 6 off 7.60f 1280 1.2 —| —
TRy = [ —fl 4.3l 5.0 - - — —
ERELIS O P L1 6o 7.60 1200 1.2 —| —
&| @ 5 F i Xk —l 4,360 4.5 0 —| - —| -
LRREADRIR L1 6.7 6,900 1280 1.9 —| —
N i P —%BJF4J - - - -
LRCLASR D XI5 L1|d .4 7.4%0 1480 1.4 — -
/N2 Fot Y b R s —if 4680 6.2 —-| - - -
EFELS O IR L1 6l 7,400 14l 1.4 —| —
& HF 2 FH i X3 —t 4.3 5.0 - - - -
LA ORISR L o6 3 6.7 128 1.9 —|  —
# =353 p:iN —l 2. o0 2.6 |  —|  —| —
BRI 0> KR L1|# 3.2 4.6 1566 1.5 —| —
L FH+R frd i L X Ja —pt Lot 1. - | | —
FELS ORI L1¢2j$3ﬁﬁ13%13 - -




ST 545 i = X °H
I BCET A4 - PRI AR )1 BT RS E

e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
L{ F#gEn £ P DU —ti 438 500 —|  —|  —| -
LA D KI5 L1¢6AE63%12%12 — —
7= B fr P M X —l 4390 5.0 —|  —|  —| —
SIS g L1|f e.9f 7.6 128 1.9 —| —
e FE PR M X3 —l 2. 40 2.6 0 —|  —|  —| —
LR DR LU 3. o 4.6t 1680 1.5 —| —
Bl LY FE A i X I —l 4.8t 6.2 |  —|  —| —
BRSO IR L[ 61 7400 1 480 1.4 —| —
T 2 F i Xtk —t 580t 6.1 - —|  —|  —
RSO KIS L1 7.7 7800 L4l 1.4 —|  —
| = ) R — 3. 6. | |~ —
LELMS O KIS Lo 6.5 6.9 L.4% 1.4 —| —
| I 2 R L XI5 —t 4.6 6.2f  —| - - —
ERLEASR D X L1 6 1ff 7.400 1480 1.4 —| —
AR = [ —fl 4. 6l 6.2 - - — —
ERELIS O P L1 6 U 7,400 L4t 1.4 —| —
O FI8 R Hb X —fidi 4. 3 5.0 - - — —
LRREADRIR L1¢6AE68%12%12 - -
3 RE i PR M X —fhti 4. 3% 5.0f  —|  —| - -
LRCLASR D XI5 Ll e9f 7.68f 128 1.2 — -
G Rk Fot Y b R s —i 2. o0 2.6 0 —| - - —
NEEIIEINAIFS: L1¢33E4ﬁ%14%14 - -
= = 2 FH i X3 —t 2. 2l 2.0 0 —| - - —
LA ORISR LU 3o 4.6t 1680 1.5 —| —




